run_13033051 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD

Fri Feb 3 00:11:04 2012
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run_13033051 FGT_MPV_1,Timebin=2,Disc=1,asmb=1CD
Fri Feb 3 00:15:29 2012
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run_13033051 FGT_RMS 1,Timebin=2,Disc=1,asmb=1CD
Fri Feb 3 00:15:57 2012
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run_13033051 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD

Fri Feb 3 00:11:16 2012
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run_13033051 FGT_MPV_1,Timebin=2,Disc=1,asmb=1CD
Fri Feb 3 00:15:30 2012

[ADC MPV for RDO=1ARM=0,APV=5__}

MPV (ADC-ped)

-500

L i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=6 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13033051 FGT_RMS 1,Timebin=2,Disc=1,asmb=1CD
Fri Feb 3 00:15:58 2012
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run_13033051 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Fri Feb 3 00:11:26 2012
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run_13033051 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA

Fri Feb 3 00:15:31 2012
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run_13033051 FGT_RMS 1, Timebin=2,Disc=1,asmb=1DA
Fri Feb 3 00:15:59 2012
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run_13033051 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Fri Feb 3 00:11:38 2012
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run_13033051 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Fri Feb 3 00:15:32 2012
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run_13033051 FGT_RMS 1, Timebin=2,Disc=1,asmb=1DA
Fri Feb 3 00:16:00 2012
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run_13033051 FGT_ADC 1,Timebin=2,Disc=2,asmb=2CD

Fri Feb 3 00:11:49 2012
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run_13033051 FGT_MPV_1,Timebin=2,Disc=2,asmb=2CD
Fri Feb 3 00:15:33 2012
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run_13033051 FGT_RMS 1, Timebin=2,Disc=2,asmb=2CD
Fri Feb 3 00:16:01 2012

[ADC RMS for RDO=1LARM=L,APV=0 J

1000 [

800 [+

RMS (ADC-ped)

600 [+
400 |-

200 |

[ ADC RMS for RDO=1,ARM=1,APV=1 }

1000 F

800

RMS (ADC-ped)

600 |

400 |+
200 |-
o 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=2 "}

1000 fF

RMS (ADC-ped)

800 [+
600 [
400 |-

200 |+

0 0 20 40 60 80 100 120
APV channel

[CADC RMS for RDO=LARM=L1,APV=3_}

1000 [

RMS (ADC-ped)

800 [}—--- e L L PEPEPERERPEEE R TRTETLTLPLPIPL R PR PEPLPEE e R PR PEPLPEE REREREER

600 [+

200 : faasessscsnsossssssasad Booossanasasaasassacand focasacasacanacanacanadiascanacanacanacanacandbanacans
9 [Hprhten e e g e e e M
40 60 80 100 120
APV channel
[ ADC RMS for RDO=1,ARM=1,APV=4 "}
i Fesoosoesnssiosac . T e e . -

800 |

RMS (ADC-ped)

600 f— - ncneeai PP PR e T PP P T PP DR

200 |-

120
APV channel




run_13033051 FGT_ADC 1,Timebin=2,Disc=2,asmb=2CD
Fri Feb 3 00:12:00 2012
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run_13033051 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA

Fri Feb 3 00:12:02 2012

ADC for FGT RDO=1ARM=LAPV=12 _§

ADC-ped

=
Q

3000 4000
raw ADC

1000

ADC for FGT RDO=1ARM=1APV=13 _§

ADC-ped

I
3000 4000
raw ADC

ADC for FGT RDO=LARM=LAPV=14__ |
—

5
3
[
o
a
<
10?
10
1
i
1000 2000 3000 4000
raw ADC
[ ADC for FGT RDO=1,ARM=1,APV=15 |

L — -
1 5 z
[ s =
Q
a s =
<
102 o o o
10
1
0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=1ARM=LAPV=16 __§

ADC-ped

I~
15}

3000
raw ADC

4000

[[ADC for FGT RDO=1,ARM=LAPV=12 }
= 4000 p—
g =
Q 3500 f=—
< =
3000 f=—
2500 fm—
2000 f=——
=
1500 f=——
1000 E._
s00 E—
=
=
0
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=13 "}
- 4000 p—
g = H H H H H
9 E e e T e B e S R P E PR R R TE SR T
< =
gD |[=—pe=q°ooo9500508s005c0000550050909055000059500p0959¢80050095005095905508H0950050595965505903500509556550990954(030950
2z | E=fbcodscanesancsduasanasanasanasandbanasasasadbsasalhgasasasasasasasasadnassasasdbasasasacpsasasasasanasanasiasans
B e e e ] A P ] A PR R TP PP PP SR
1500 E— B e e P R T P PR PR PP PP PP PEEEE PR
1000 E— B R R P SRR PP PP PR PP PP PP PEPEEY PEP
500 f=—|- - - EERREE
L L e e e e
=L . . i . . . i . . . i . . . i . . i . . . .
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=14 }
- 4000 p—=
2 = H H H H H H
3’ 3500 E—
< =
3000 f=—
=
2500 =
2000 f=—
1500 f=——
1000 E‘—
500 E——
=
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=1,APV=15_}
- 4000 p—
3 = . 2 2
Q 3500 F=—
< =
3000 f=—
2500 =
2000 [E—
=
1500 f=——
1000 E._
s00 E—
=
b=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=1,APV=16 l

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

.. . d e d A L a

10°

10°

10°

10°

10




run_13033051 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
Fri Feb 3 00:15:34 2012
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run_13033051 FGT_RMS 1,Timebin=2,Disc=2,asmb=2DA
Fri Feb 3 00:16:02 2012
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run_13033051 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA

Fri Feb 3 00:12:13 2012

[ ADC for FGT RDO=1,ARM=1,APV=17 |
5
3
5
o
a
<
10%
10
1
1000 2000 3000 4000
raw ADC
[ ADC for FGT RDO=1,ARM=1,APV=18 |
o
3
[
o
a
<
10*
10
1
i i I
0 1000 2000 3000 4000
raw ADC
[ Apcfor Fet RDO=LARM=1APV-19 ]
5
3
[
o
a
<
10°
10
EEEEEE
1000 2000 3000 4000
raw ADC
[ ADC for FGT RDO=1,ARM=1,APV=20 |

0 1000 2000 3000 4000
raw ADC
ADC for FGT RDO=1ARM=LAPV=21 |
-
°
[
Q
ja}
<
10
10

3000 4000
raw ADC

[[ADC for FGT RDO=LARM=LAPV=17_J
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

Py
lw)
O
|
p=
X
<
|

[ ADC for FGT
4000

p=
T
<]
11
=)
|
b

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

1
120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=19 }

o 4000 p—=
] = 5 = - - . :
o = . . o : : :
Q 3500 f=r— |- = - - - - - .
< =
3000 f=—|- - - - - - - .
=
2500 f=—1- - - - - - - .
=
2000 = sofbo
=
1500 f=—|- - - - - - - s
1000 f=—|- - - - - - - s
=
500 f=— e - - - e e .
=
= i
= i i i i : :
0 o 60 80 00 20
APV channel
[[ADC for FGT RDO=1,ARM=1,APV=20 }
o 4000 p—
5] =
5 =
Q 3500 F=—|- - - ..
< =
3000 F=——|- - - | - oo
2500 fp——1- 4 - - 1 - .-
2000 f—|- M - - + - .
=
1500 f=—|- 4 - - - aoo
1000 p=—/- P TR IR P
Ly .
= 2
500 f=—|- M- - bt e e i
= 2
0 oAl = - =
= i
= 1
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=21 }
4000

3500

ADC-ped

3000
2500
2000
1500
1000
500

0

APV channel

. .0 sl Es.a i

10

10°

10

10

10

10




run_13033051 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
Fri Feb 3 00:15:35 2012
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run_13033051 FGT_RMS 1,Timebin=2,Disc=2,asmb=2DA
Fri Feb 3 00:16:03 2012
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run_13033051 FGT_ADC 1,Timebin=2,Disc=3,asmb=3CD
Fri Feb 3 00:12:23 2012
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run_13033051 FGT _MPV_1,Timebin=2,Disc=3,asmb=3CD
Fri Feb 3 00:15:36 2012
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run_13033051 FGT_RMS 1,Timebin=2,Disc=3,asmb=3CD
Fri Feb 3 00:16:04 2012
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run_13033051 FGT_ADC 1,Timebin=2,Disc=3,asmb=3CD

Fri Feb 3 00:12:34 2012
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run_13033051 FGT _MPV_1,Timebin=2,Disc=3,asmb=3CD
Fri Feb 3 00:15:37 2012
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run_13033051 FGT_RMS 1,Timebin=2,Disc=3,asmb=3CD
Fri Feb 3 00:16:05 2012
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run_13033051 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA
Fri Feb 3 00:12:45 2012
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run_13033051 FGT_RMS 1,Timebin=2,Disc=3,asmb=3DA
Fri Feb 3 00:16:06 2012
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run_13033051 FGT_RMS 1,Timebin=2,Disc=3,asmb=3DA
Fri Feb 3 00:16:06 2012
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Fri Feb 3 00:12:57 2012

[ADC for FGT RDO=1,ARM=3,APV=0 } [ ADC for FGT RDO=1,ARM=3,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=3,APV=1 } [ ADC for FGT RDO=1,ARM=3,APV=1 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=LARM=3,APV=2 } [ ADC for FGT RDO=1,ARM=3,APV=2 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=3,APV=3 } [ ADC for FGT RDO=1,ARM=3,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=3 APV=4 } [ ADC for FGT RDO=1,ARM=3,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=4CD

4. asmb

iIsc=

2,D

IN=

b

Ime

Fri Feb 3 00

run_13033051_FGT_MPV_1,T

15:39 2012

TARM=3,APV=0_ }

[CADC MPV for RDO

| ._._._._... LLLL

120

Lk

500 fr—— - sr e

150
1000

(pad-0av) AdW

-500

APV channel

ARM=3,APV=1 }

=0

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

(pad-0av) AdiW

-500

APV channel

ARM=3,APV=2 "}

=1

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

TARM=3,APV=3_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=3,APV=4 "}

=1

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13033051 FGT_RMS 1,Timebin=2,Disc=4,asmb=4CD
Fri Feb 3 00:16:07 2012
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run_13033051 FGT_ADC 1,Timebin=2,Disc=4,asmb=4CD

Fri Feb 3 00:12:59 2012
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run_13033051 FGT_MPV_1,Timebin=2,Disc=4,asmb=4CD
Fri Feb 3 00:15:39 2012
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run_13033051 FGT_RMS 1,Timebin=2,Disc=4,asmb=4CD
Fri Feb 3 00:16:07 2012
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run_13033051 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA

Fri Feb 3 00:13:08 2012
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run_13033051 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Fri Feb 3 00:15:40 2012
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run_13033051 FGT_RMS 1,Timebin=2,Disc=4,asmb=4DA
Fri Feb 3 00:16:08 2012
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run_13033051 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Fri Feb 3 00:13:18 2012
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run_13033051 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA

Fri Feb 3 00:15:41 2012
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run_13033051 FGT_RMS 1,Timebin=2,Disc=4,asmb=4DA
Fri Feb 3 00:16:09 2012
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run_13033051 FGT_ADC 1,Timebin=2,Disc=5,asmb=5CD
Fri Feb 3 00:13:19 2012
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run_13033051 FGT _MPV_1,Timebin=2,Disc=5,asmb=5CD
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run_13033051 FGT_RMS 1, Timebin=2,Disc=5,asmb=5CD
Fri Feb 3 00:16:09 2012
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run_13033051 FGT_ADC 1,Timebin=2,Disc=5,asmb=5CD
Fri Feb 3 00:13:31 2012
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run_13033051 FGT_RMS 1, Timebin=2,Disc=5,asmb=5CD
Fri Feb 3 00:16:10 2012
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run_13033051 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA

Fri Feb 3 00:13:33 2012
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run_13033051 FGT_MPV_1,Timebin=2,Disc=5,asmb=5DA

Fri Feb 3 00:15:42 2012
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run_13033051 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
Fri Feb 3 00:16:10 2012
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run_13033051 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Fri Feb 3 00:13:44 2012
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run_13033051 FGT_MPV_1,Timebin=2,Disc=5,asmb=5DA
Fri Feb 3 00:15:43 2012
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run_13033051 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
Fri Feb 3 00:16:11 2012
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run_13033051 FGT_ADC 1,Timebin=2,Disc=1,asmb=1AB

Fri Feb 3 00:13:54 2012
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run_13033051 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
Fri Feb 3 00:15:44 2012
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run_13033051 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Fri Feb 3 00:16:13 2012
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run_13033051 FGT_ADC 1,Timebin=2,Disc=1,asmb=1AB
Fri Feb 3 00:14:07 2012
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run_13033051 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
Fri Feb 3 00:15:45 2012
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run_13033051 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Fri Feb 3 00:16:14 2012
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run_13033051 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC
Fri Feb 3 00:14:19 2012

ADC for FGT RDO=2,ARM=0,APV=12 _§

[[ADC for FGT RDO=2,ARM=0,APV=12_}
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[ ADC for FGT RDO=2,ARM=0,APV=13 | [ ADC for FGT RDO=2,ARM=0,APV=13
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raw ADC APV channel
[ ADC for FGT RDO=2.ARM=0.APV=16 | [ ADC for FGT RDO=2,ARM=0,APV=16
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run_13033051 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Fri Feb 3 00:15:46 2012
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run_13033051 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Fri Feb 3 00:16:15 2012
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run_13033051 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC
Fri Feb 3 00:14:31 2012

ADC for FGT RDO=2,ARM=0APV=17__§ [ ADC for FGT RDO=2,ARM=0,APV=17 |
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raw ADC APV channel
[ ADC for FGT RDO=2,ARM=0,APV=18 | [ ADC for FGT RDO=2,ARM=0,APV=18 "}
= 4000 p—
g = :
Q 3500 f=— -+ -+ - EERR -
< = 8
3000 == ol - - - - poedpgoocosscscana ° 10
2500 = +|- - - - - R R PP -
=
2000 = - - - - - R T -
= o
1500 f=r— |- - - - - e - 1
= 8
1000 = |- - - - - R L -
= 8
500 = -0 03 =
= . 8
0 = b bl R =i 10"
it i I = . . i . . i i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
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raw ADC APV channel
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raw ADC APV channel
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run_13033051 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Fri Feb 3 00:15:47 2012
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run_13033051 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Fri Feb 3 00:16:16 2012

[ADC RMS for RDO=2,ARM=0,APV=17 _}

RMS (ADC-ped)

1000 f*
800 [+
600 [+
400 |-

200 |

d

0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=18 "}

RMS (ADC-ped)

1000 F

0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=0,APV=19 |

RMS (ADC-ped)

1000 fF
800 [+
600 [
400

200 |+

120
APV channel
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run_13033051 FGT_ADC_1,Timebin=2,Disc=2,asmb=2AB
Fri Feb 3 00:14:43 2012

[ADC for FGT RDO=2,ARM=1,APV=0 } [ ADC for FGT RDO=2,ARM=1,APV=0 |
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raw ADC APV channel
[ADC for FGT RDO=2,ARM=1,APV=1 } [ ADC for FGT RDO=2,ARM=1,APV=1 }
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raw ADC APV channel
[ADC for FGT RDO=2,ARM=1APV=2 } [ ADC for FGT RDO=2,ARM=1,APV=2 }
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raw ADC APV channel
[ADC for FGT RDO=2,ARM=1APV=3 } [ ADC for FGT RDO=2,ARM=1,APV=3 |
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raw ADC APV channel
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raw ADC APV channel




=2AB

2,asmb

iIsc=

2,D

IN=

b

Ime

Fri Feb 3 00

run_13033051_FGT_MPV_1,T

15:48 2012

2ARM=LAPV=0 J

[CADC MPV for RDO

| ._._._._... LLLL

120

Lk

500 fr—— - sr e

150
1000

(pad-0av) AdW

-500

APV channel

ARM=1,APV=1 }

=

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

(pad-0av) AdiW

-500

APV channel

ARM=1APV=2 "}

=2

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

2ARM=LAPV=3_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=1,APV=4 "}

=2

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13033051 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Fri Feb 3 00:16:17 2012
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run_13033051 FGT_ADC_1,Timebin=2,Disc=2,asmb=2AB

Fri Feb 3 00:14:45 2012
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run_13033051 FGT_ MPV_1,Timebin=2,Disc=2,asmb=2AB
Fri Feb 3 00:15:48 2012
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run_13033051 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Fri Feb 3 00:16:17 2012
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run_13033051 FGT_ADC 1,Timebin=2,Disc=2,asmb=2BC

Fri Feb 3 00:14:56 2012

ADC for FGT RDO=2,ARM=1APV=12 _§

<»-Da:\DCAped

1000 2000 3000 4000
raw

ADC

[ ADCfor FoT RDO=2,ARM=1,APV=13 |

0 1000 2000 3000 4000
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run_13033051 FGT_MPV_1,Timebin=2,Disc=2,asmb=2BC
Fri Feb 3 00:15:50 2012
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run_13033051 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
Fri Feb 3 00:16:18 2012
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run_13033051 FGT_ADC 1,Timebin=2,Disc=2,asmb=2BC
Fri Feb 3 00:15:00 2012

[ ADC for FGT RDO=2 ARM=1,APV=17 | [ ADC for FGT RDO=2,ARM=1,APV=17 |
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raw ADC APV channel
[ ADC for FGT RDO=2,ARM=1,APV=18 | [ ADC for FGT RDO=2,ARM=1,APV=18 }
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run_13033051 FGT_ADC 1,Timebin=2,Disc=3,asmb=3BC
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